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BEMS%:N(50,10%)
Ho 7 ILE:n=10

BEROEFAMB LTS
> $ZK <- rnorm(n=10, mean=50, sd=10)
> 12X
[1]49.78527 53.83358 32.68944 50.65051 55.88846 54.73556
40.45287 52.80188
[9] 65.50508 62.29281

> mean({ZX)
[1]51.86355
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> 2K <-rnorm(n=10, mean=50, sd=10) ?ngqui’;] @ﬁﬁﬁﬁ\?ﬁ

> ZX

[1] 49.78527 53.83358 32.68944 50.65051 55.88846 54.73556

40.45287 52.80188 ERAAN (o) ITRSBEMD DY TILEREE
e BEHLILE, ZORRTHORES i (XS

> mean(#RA) 02, 1 — =

[1] 51.86355 ) IEN (u, 7)(_%7.

> 2K <-rnorm(n=10, mean=50, sd=10) & A 3

> EX > mean(f£ARF 1)

[1] 56.55998 62.13028 63.16473 52.05961 61.03372 57.48173 (1] 50.00082

50.13165 45.09212

[9] 51.82399 37.71204 > mean(({R AT H-mean(iF A F1))12)
> mean(1€X) [1]1 9.906092
[1]53.71898
12 19
4.54 g*ﬁj\?ﬁ%;ﬁ&)é > hist(l2A 14 freq=FALSE) <@Ei&E=1&85E5(2HE>

> curve(dnorm(x,mean=50,sd=sqrt(10)),add=TRUE)
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> {ZARE <- numeric(length=10000) fﬁ
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> for(i in 1:10000){

+ $Z&<- rmorm(n=10,mean=50,sd=10)
+ BEREH[]<- mean(EX) }
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> sd(BAR 5 EX)
[1]142.61138
> sd(FR 57 #K)
[1]47.34598

FMRABDADESDENKEL
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4.6 EXREHLNDERS > hist(#24 4381 breaks=seq(0,500,10))
> hist(FF 4 8, breaks=seq(0,500,10))
EHLUNOBHIZHLTEERDHEEZ TR
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> {24381 <- numeric(length=10000)

> TR 438X <- numeric(length=10000) > mean(sqrt(FRIR4 &)

[1]9.752271

> for(iin 1:10000){

+ #24<- rnorm(n=10,mean=50,sd=10) BHE#(REE=10>9.75

+ BAS Bk[i]<-mean((fRA-mean(1E4))"2) FMRABDEAR S BIREREDHEE RIS,

+ MRS EL(i]<-var(iZX)

+}

> mean(EA 7 8#k) <EERZFEIE1N>

> [1] 90.46028

> mean(T R 7 8#K) <FRAEIE/(n-1)>

[1]100.5114 20 23
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> 2R <- numeric(length=10000) 5 SEAE
> $EAh & {E <- numeric(length=10000) I. ROMBEESAL L
>1;or2(iKin 1:10000){ BEE, B EX EX M, #HEE, HEE,
+ $EAR<- rnorm(n=10,mean=50,sd=10) % o = = =t
+ BAEH[]<-mean(iB) MEEH, HESH ERSE EX5F TRIE
+ A R {E[i]<-median(1EZ) 1ZHERE
+
> mean(12ARF 1)
[1]49-96165 . 0. FA4EDHEERMBEETo3AT, UTIZEZ &L
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[1]3.75616 25 Bkl 28
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> hist(EAF 1) REDFE
> hist(lEAR R {E)
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